Expenditure Programs

1. Chapter 10 Questions and Problems # 2

a. Medicare pays for health care for the elderly. If the elderly would otherwise have been supported by their families, the benefits accrue partly to the families. If the elderly would have been treated in hospitals anyway, then it is the hospitals which benefit.

b. Housing subsidies for the poor often benefit their landlords, as the subsidies increase demand and this in turn leads to higher rents.

c. Universities have limited funding for scholarships. If the government extends its aid programs, universities benefit by being able to target their money elsewhere. If this means greater aid to the poor, then extending federal programs to the nonpoor will have some benefit for the poor as well as for the universities. Some government programs assign contracts to enterprises headed by minorities. These enterprises are sometimes financed by limited owners who are not from the targeted groups but who take a share of the profits generated.

2. Chapter 10 Questions and Problems # 4

Assuming a lump-sum food stamp allotment once the individual’s income, minus housing expenditures, reaches the eligibility level, the budget constraint shifts up from the dotted line by an amount equal to the food stamp allotment FS. This depiction also assumes that the individual would consume enough food as part of “other consumption” so that he or she could use the full allotment once he or she becomes eligible. The food stamp allotment only has an income effect if the individual spends enough on housing so as to be eligible for the full food stamp benefit and the individual spends an amount equal to or greater than the food stamp allotment. If she or he spends less than the allotment, her or his budget constraint would not shift out by the full amount.

[image: image1.png]Other
consumption

}Foud stamp allotment

Housing




3. Chapter 10 Questions and Problems # 5

State government subsidies for higher education are likely to increase the amount of education individuals get since the subsidy on tuition, the price of education, creates a substitution effect which induces more consumption of the good. This program addresses the market failure of a missing market. Humans cannot use their minds as collateral for a loan; that is, they cannot sell themselves into slavery. Without some collateral the market will not lend money to students to attend college. The state effectively reduces the need for these loans by using tax revenues from current workers to fund the education of a future set of workers. Alternatively, the state could operate a student loan program, where only those who participate in the program would be required to pay the cost of their education, whereas the current subsidies are funded by all taxpayers.

Health Care

4. Chapter 12 Questions and Problems #1

Moral hazard: Having health insurance reduces incentives to take care of one’s health.

Preferred-tax treatment: Allowing health insurance costs and high health expenditures to be deducted from taxes lowers the effective marginal cost of health insurance and health care, and so increases the incentives to consume more medical services.

Third party payers: Having either the government or private insurance pay the majority of health costs reduces incentives to limit treatment or shop around for the lowest prices.

Medicaid coverage of nursing care: Knowing that the government will pay for nursing home care once assets are depleted creates incentives to hide assets and creates disincentives to privately insure for long-term nursing care.

Medigap policies: By covering out-of-pocket costs for Medicare, such policies create incentives for the elderly to increase demand for health care, which raises the costs for the Medicare program as well.

5. Chapter 12 Questions and Problems #2

Purchases of cars and medical services are similar in that you can ask around and get information about others’ experience, knowing that others’ needs are not exactly your own. Both are fairly rare events, so trial and error is not a very satisfactory search rule. The two types of purchases are different in that new cars are more standardized than medical procedures. A car can be tested in advance, whereas a medical procedure cannot. Cars come with warranties, which lower the cost of a bad choice.

Social Insurance

6. Chapter 14 Questions and Problems #2

The OASDI program insures against the risks of:

Living beyond retirement

Outliving one’s partner’s earning power

Physical or emotional disability

Being destitute in old age

Since the age at which one retires is largely a choice variable, the provision of social security is likely to give people the incentive to retire early. The probability of surviving one’s spouse is more likely to be exogenous, although the incentives to run off with a younger, gainfully employed individual are reduced. Disability insurance may encourage people to accept dangerous jobs, but disability is so unpleasant that it is difficult to imagine that insurance significantly increases carelessness. Since people probably save less because of social security, they run a bigger risk of being destitute if social security does not end up helping to support them later on.

7. Chapter 14 Questions and Problems #3

Social security can decrease savings for retirement by providing a perceived substitute through the promise of future payments and by reducing net earnings under the payroll tax. Savings might be increased if social security induced early retirement, since more years of retirement would require more saving.

A tax on interest income could lead to later retirement for two reasons. First, the income effect from the tax reduces saving wealth, encouraging an individual to work longer to amass greater savings. The substitution effect from the tax reduces the returns to working and saving while young, encouraging people to work less while young but more when old, including retiring later. Thus an interest income tax might be desirable if later retirement would significantly improve the solvency of the social security plan.

Education

8. Chapter 16 Questions and Problems #3

Local property tax revenues depend on the property tax rate in conjunction with the property tax base. Just because the property tax rates in two settings are equal does not mean that tax revenues are equal. If the suburbs have a larger tax base (higher property values to tax), they will have higher expenditures per pupil. Also, industrial centers may require greater expenditures on other local public goods than residential suburbs. Residents in the suburbs may care more about education than people living in industrial centers; this would push the local governments to focus on public education.

9. Chapter 16 Questions and Problems #5

The perceived need for socialization through public education supports limits on parents’ consumer sovereignty. It is generally accepted that students must learn enough to function as voters and in the marketplace. Beyond basic education, parents may structure a child’s education for success in the parents’ sphere of reference; this leads to social stratification—a trade-off between social mobility and parental sovereignty. If parents do not believe education is important, children may not receive the correct type or enough education to give them equal opportunities in the changing economy

10. Chapter 16 Questions and Problems #7
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A poorer community has a tighter budget constraint because incomes are lower. Since education is a normal good, as income rises, demand for education rises as well. A richer community can reach a higher level of utility and purchase both more education and “other goods” than the poorer community. Also a poorer community may receive higher marginal utility from other goods than the richer community; this explains its flatter indifference curve and relatively high demand for other goods.
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The deductibility of property taxes rotates each budget constraint out, since the effective marginal cost of education, that is, property tax bills, is decreased. Both communities have a new set of feasible consumption bundles. If the median voter in the richer community has a marginal tax rate of 33 percent, then the demand for education should increase more in that community than in the poorer community where the median voter faces a marginal tax rate of only 15 percent. This is true because the richer community sees the price of an additional dollar for education as only 67 cents, whereas the poorer community sees the price as 85 cents.
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If a subsidy received by the poor community makes a 1 percent tax in the poorer community yield the same education expenditure increase as the richer community, the poor community would increase its demand for public education, since it no longer faces the full marginal cost. Whether the poor community continues to spend less on public education depends on the marginal rate of substitution in the poor community between education and other goods. 

d. If we assumed the community has single-peaked preferences for public education, then the level of education expenditures versus all other goods would depend on the median voter’s indifference curve, since the median voter’s preferences represent the consumption bundle which would win against any other bundle in a majority vote.

